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𝑧4 + 9𝑧2 + 64 = 0, 𝑧 ∈ ℂ



 𝑥 𝑥

𝑦 =  𝑥𝑥  𝑥, 𝑦 ∈ ℝ+

 

 𝑓(𝑥) = −2𝑥 tan−1(𝑥).

 
𝑑

𝑑𝑥
(𝑥 cos−1(𝑥))

 𝑥 𝑦 = cos−1(𝑥)

𝑥 =
1

2
 𝑥 = 1



AB⃗⃗⃗⃗  ⃗ = 𝒂 AD⃗⃗⃗⃗  ⃗ = 𝒅

 𝐴𝐶⃗⃗⃗⃗  ⃗  𝒂 𝒅

 𝑀  𝐴𝐶 𝐵 𝑀 𝐷



3sin2(𝜃) + cos2(𝜃) + √3 sin(2θ) = 4, 𝜃 𝜖 [−𝜋, 𝜋]



𝑎 𝑥

𝑎 = 2𝑥2 + 1.

𝑣 =  2 𝑥 =  1

𝑥 =  0



 𝑋 𝑌 𝐸(𝑋)  =  12  𝑉𝑎𝑟(𝑋)  =  4 𝐸(𝑌) =

5 𝑉𝑎𝑟(𝑌)  =  9

 𝐸(4𝑋 –  2𝑌 +  6)

 𝑉𝑎𝑟(4𝑋 –  2𝑌 +  6)

 



𝑟(𝑡) = (𝑘 tan(𝑡) − 1)𝒊 + (3 sec(𝑡) − 8)𝒋, t ∈ [0, π]

 
(𝑦+8)2

9
−

(𝑥+1)2

𝑘2 = 1.

 𝑥 𝑦  𝑘

 3𝑦 +  2𝑥 + 2 =  0 𝑥 =  2 𝑘










